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(* no more increase *)

t}. A} (widening operator) <7

~

T,7: C — D;

begin

VC; of C - T(C;) :=F (A\z.T(x)) Cy;

T =T,
until 7T C 7'

~

Tabulate(F: (Code — D) — (Code — D), C': Code)
StA 7Y, fratsteiete We] dare|Eol U std, 2

VC; of C:T(C;) :=T'(C;) == Lp;

repeat

end

6.1 8 F 3l Y

B

=
=

3] 7] (narrowing operator) A2 1 A3}

=
ST

i
o

o
4r
<
Uy

—=
jo

o)

<

veel

A B 6.1.12).

oy
<

—_—

ﬁ
)

VC; € C:T(C;) :=F (M. T(x)) C;
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Tabulate@(ﬁ: (Code — D) — (Code — D), C: Code)
T,7": C — D:;
d: D;
begin
VC; of C:T(C;) :=T'(C;) == Lp;
repeat
T :=T;
VC; of C':
d:=F (\z.T(z)) C;
if d Z T'(C;) then T(C;) :=T'(Cy) v d
until T C 7’ (* no more increase *)
repeat
T =T,
YC; of C: T(Cy) := T'(C;) A F (A& T(x)) Cy;
until 7" C T (* no more decrease *)
end
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W 200de (* worklist *)
w: Code

(* f is called when the evaluation of w (current expression) requires
the evaluation of ¢ (sub expression of w). *)
f(c: Code): D
begin
record that evaluation of w requires that of c¢;
W= Add(W,c);
return 7'(c)
end

Tabulate(F : (Code — D) — (Code — D), C': Code)
Tx: Pgm—>X; Ty : Pgm—>f/; y: }A/;

begin
VC; of C:T(C;) :=T"(C;) == Lp;
W= {C}
repeat
w := Select(V)
y=Ffuw
if y £ Ty (w) then
Ty (w) =y
Vw' whose evaluation needs that of w :
W= Add(W,w")
until W = {}
end
39 6.3 &Lut 3] WAle] =2 a9 B &8 E(worklist algorithm)
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f(c: Code) (a: A) : B
begin
Tx(c) :=Tx(c)Ua;
return Ty (c)
end

Tabulate(F: (Code — A — B) — Code — A — B, C: Code, a: A)
YQJTA:dee—»f&
T, Th: Code — B;
begin
VC; of C: Ta(Cy) ==Ly, Tp(C;) = Lg;
Tu(C) = a;
repeat
(T4, Tp) = (Ta, T);
VC; € C: T(Cy) := F f C; (Ta(Ch));
until (TW CTY) A (T CTp)

end
39 64 2RAQ 2 BN dugZE: 2219 onj(e A - B)7}
A= - d o
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W: 200de
w: Code

(* f is called when the evaluation of w (current code) requires
the evaluation of ¢ (sub code of w). *)
f(c: Code) (a: A) :B
begin
record that evaluation of w requires that of c;
if (x £ T4(c)) then
Ta(c) :=Ta(c)Ua;
W = Add(W,c);
return Tg(c)
end

Tabulate(F: (Code — A — B) — (Code — A — B), C: Code, a: A)

TA:C'—uZl; TB:C'—>B; y:é;
begin
VC; € C:Ty(Cy) == L4, Tp(C;) == Ly
Ta(C) = a;
W .= {C}
repeat
w := Select(IV)
y:=F fwTa(w)
if y £ Ts(w) then
Tp(w) =y
Vw' whose evaluation needs that of w :
W= Add(W,w")
until W = {}
end
19 6.5 &L ] wAlel =2 a9l B da1e] & (worklist algorithm):
229 ou)(c A B)7t A% B4 o
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